


PART -A

ACCOUNTANCY (Maximum Scores : 40)
I.  Answer all questions from 1 —4. Each carries 1 score. @x1=4)
1. Income and expenditure a/c is prepared on basis.
(a) Accrual (b) Actual
(¢) Cash (d) None of these

2. The written document of the partnership agreement :
(a) Table A (b) Partnership Deed

(¢) Memorandum of Association (d) Articles of Association

3. A new partner may be admitted to a partnership
(a) with the consent of all the partners.
(b) with the consent of 2/3 of old partners.
(¢) with the consent of any one of the partners.

(d) with the consent of 1/3** of old partners.

4. Realisation A/cisa

(a) Nominal Account (b) Real Account
(c) Personal Account (d) All of these
I.  Answer all questions from 5 to 8. Each carries 2 scoTes. (dx2=8)

5. Show the treatment of the following items by a not-for-profit organization.
(i) Special Donation
(ii) Sale of old newspaper

6. Illustrate the difference between fixed capital a/c fluctuating capital a/c.
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11, Write journal entries in the books of a firm at the time of dissolution.
(a) When realization expenses are paid by a partner on behalf of the firm.
(b) - For payment of liabilities.

(c) For an asset taken over by a partner.

IV. Answer any 1 question from 12 & 13, Each carries 4 scores. (1xd=4d)

12. Soman and Viswan are partners sharing profits in the ratio of 5:3, with capitals of
7 7,00,000 and 5,00,000 respectively. The books are closed on December 31, every year.

Other details are given below :

(a) Additional capital contributed by Soman and Viswan are ¥ 1,00,000 and ¥ 50,000
respectively.

(b) Interest on capital @ 5% p.m.
(c) Interest on drawings @ 6% p.m.
(d) Drawings :

Soman T 5,000

Viswan 2 3,000
(e) Commissioh:

Soman ¥ 1,000

Viswan ¥ 750
(f) Yearly salary :

Sonam ¥ 6,000

Viswan ¥ 4,000
Share of loss for the year 2017-18 is T 20,000 and 10,000 respectively.

. Prepare capital a/c under fixed and fluctuating capital method.

SY 49 6






13. A, B and C were equal partners in a firm. B died on 1.7.2018. As per the partnership
deed the executers of B entitled to the following :

(a) Credit balance in his capital account which was T 48,000 as on 31.3.2018.

(b) Share of profit upto the date of death based on previous year’s profit. (The profit’
for 2016-17 was ¥ 12,000)

(c) Interest on capital @ 10% upto the date of death.
(d) Salary @ ¥ 4,000 per month to the partners.
Prepare B’s capital a/c to be submitted to his executors.

Y. Answer all Question from 14 to 15. Each carries 5 scores : 2x5=10)

14. Explain the term ‘Goodwill’ and the various factors affecting the value of Goodwill.

15. Sudeesh and Maneesh are partners, who share profit / loss in the ratio of 3:2. Following
is the balance sheet as on 31.12.2018.

Balance Sheet of Sudeesh and Maneesh

Liabilities Amount Assets Amount ;
Sudeesh’s capital 50,000 | Cash 50,500
Maneesh’s capital 27.500 | Inventories £.900
Sundry creditors 10,500 | Sundry Debtors 30,000
Reserve fund 7.500 | Fixed Assets 6,100

95,500 95,500

The firm was dissolved as under on 31.12.2018.
(i) Fixed assets realized of T 7,000.

(ii) Realisation expenses of T 2,000.

(iii) Creditors are paid in full.

Prepare Realisation and Capital Accounts.
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Liabilities Amount Assets Amount |
Capital : Land & Building 70.000
Mani 40,000 Plant and Machinery 30,000
Rani 60,000 1,00,000 | Investments 20.000
Reserve fund 20,000 | Inventories 12,000
Sundry creditors 15.000 | Debtors 10,000
Trade payable 7,000 | Cash 5,000
Employees Provident Fund 5,000
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PART-B
ANALYSIS OF FINANCIAL STATEMENTS

{(Maximum Scores : 40)

I.  Answer all questions from (1 to 5). Each carries 1 score. (5x1=5)

1. When the shares are issued above the face value, then it is called

2. Find the odd one in relation to debenture redemption.
(a) paymentin lump sum
(b} payment in instalments
(c) purchase in open market

(d) conversion of loans into shares and debentures

3. Identify the correct equation.
{a) Working capital = Current asset — Current liabilities
(b} Current Asset = Cash + Trade payable
(c) Current Liabilities = Bank overdraft + Cash

(d) Current Asset = Cash + Creditors

4. Common size statement is otherwise called
(a) Comparative statement (b) Fund flow statement
(c) 100% statement (d) Cash flow statement

5. While preparing cash flow statement purchase of land is activity.

(a) operating activity (b) financing activity
(c) investing activities (d) None of these
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Particulars Note. No, | 31122018 | 31.12:2017
. Equity and Liabilities
(i) Shareholders fund :
(a) share capital 10,00,000 $,00,000
(b) reserve and surplus 4,00,000 5,00,000
{ii) Non-current liabilities
Long-term borrowings 700,000 |  4,00,000
(iii) Current liabilities
Trade payable 4,00,000 |  3,00,000 |.
'_ 25,00,000 | 20,00,000
1. Asset:
(i) Non-current assets
(a) fixed asset:
Plant & machinery 9,00,000 | 7.00,000
Patents £.00,000 6,00,000
(if) Current assets :
(2) Inventories 4,00,000 |  4.00,000
(b) Cash 4,00,000 |  3,00,000
25,00,000 IH.M.M'L
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V. Answer the following question.

16. From the following figures, you are required to calculate :

(a) current ratio

(b} quick ratio

(c) debt - equity ratio

(d) working capital

Reserve & Surplus
Prepaid expenses

Cash in hand

Bank overdraft

Cash at Bank

Inventories

Trade receivables

Trade payables

Share capital
Creditors
Advance tax

Sheort term provision

Long term borrowings

V1. Answer any 1 question from 17 — 18. Each carries 8 scores.

T

15,000
2,500
40,000
5,000
10,000
25,000
15,000
10,000
5,00,000
12,000
1,000
5,000
2,00,000

(1x5=5)

(1x8=8)

17. Amma Ltd. invited applications for 10,000 equity shares of ¥ 10 each per share payable

as follows.

On application
On Allotment
On I call

On II call

T2
T2
T3
T3

Application were received for 12,000 shares and the excess applications money being

refunded.
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(d) aibdaslow’ @palgmd

Reserve & Surplus
Prepaid expenses
Cash in hand

Bank overdrafi

Cash at Bank
Inventories

Trade receivables
Trade payables
Share capital
Creditors

Advance tax

Short term provision
Long term borrowings

VI 17 - 18 11600w]88 cana)mghed agem

T
15,000
2,500
40,000
5,000
10,000
25,000
15,000
10,000

5,00,000

12,000
1,000
5,000

2,00,000

(1x5=5)
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On application ~ ¥2

On Allotment T2

On I call T3

On II call T3

12,000 @a0dlaudamas @Rtal
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